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277 CEC x
y y 0.0358x2 3.60x 150 1 1 CEC
100g 35me 68%
1 20me 92% 10me 118%
pH6.0 6.5 CEC
2 CEC 10me CaO MgO K20
69 104% 14 28% 3 17% pH5.5 6.0
CEC 35me MgO K:20
1 CaO 20 40%
EC 100 pH
EC x pH vy y 8.74E-5x2 1.81E-2x+6.88
EC pH vy X
y 3.17E-5x2+1.90E-2x+5.31 2 2
CEC 35me 50 86% 2
pH 6.2 6.7 10me 6.7 7.5
CEC 35me pH 59 6.4 10me 6.4 7.3
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CaO  0.0358xCEC? 3.60xCEC+150 /68x40  0.0358xCEC? 3.60xCEC+150 /68x60
MgO  0.0358xCEC? 3.60xCEC+150 /68x8  0.0358xCEC? 3.60xCEC+150 /68x16
K,O  0.0358xCEC? 3.60xCEC+150 /68x2  0.0358xCEC? 3.60xCEC+150 /68x10
CaO  0.0358xCEC? 3.60xCEC+130 /48x20  0.0358xCEC? 3.60xCEC+130 /48x40
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K,O  0.0358xCEC? 3.60xCEC+130 /48x2  0.0358xCEC? 3.60xCEC+130 /48x10
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